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) Part — I (Questions : 1 to 40)
| L WL (T 1 H40)
Directions (Questions 1-4) : Choose the word which best expresses the meaning of the
underlined word in the sentence.

1.  Forgetting their old enmity, they joined hands with a spirit of camaraderie.
(1)  animosity (2) love
(3) friendliness (4) trust

2.  Rajan employed my friend only when I agreed to gvouch for his honesty.

(1) vow (2) affim
(3)  pay (4)  guarantee
3.  They knew by his sophomoric remarks that he was still naive in the field.
(1) casual (2) unpalatable
(3) ignorant (4) immature P

4. They shunned him because he was a lecherous @glways looked for an
opportunity to cheat others. l\

(1) lustful (2) decept
(3) cunning (4) dis

Directions (Questions 5-8) : Choose the word

i is opposite in meaning of the underlined
word in the sentence. Fe

s 8 , :'-;;;
5. The attack on the freedom of ﬂﬁ%@%ﬁ a retrograde step.
(1) declining AN 7 (2) progressive

(3) punitive ' AP (4) stubborn
\¥
6.  There was no altmisti?ﬁ‘dﬁé that prompted him to help her.
(1) wicked (2) brutal
(3) inhuman (4) selfish

7.  According to a great philosopher, magnanimity in a man implies many other qualities.
(1) poverty (2) jealousy
(3) meanness (4) enmity

8.  Her impetuous behaviour was attributed to her upbringing.

(1) swift (2) rash
(3) quiet and gentle (4) sluggish
632-C 2
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Directions (Questions 9-10) : Fill in the blank.

9.

10.

Since one cannot read every book, one should be content with making/a _ seclection.
(1) standard (2) sample

(3) moderate (4) judicious

Some people _ themselves into believing that they are indispensible to the
organization they work for.

(1) fool (2) delude

(3) force (4) denigrate

Directions (Questions 11-14) : Choose the option which best expresses the meaning of the
underlined idiom/phrase in the sentence.

11.

12.

13.

14,

Lord Clive won his laurels in the battle of Plassey.
(1) fought bravely (2) defeated his enemies
(3) acquired distinction (4) overpowered his enemies.
b
The best policy is fo let sleeping dogs lie.
(1) to be liberal
(2) to be tolerant
(3) to be neutral
(4) to avoid discussing troublesome matters
200"
He was in a brown study and did not seem to ¢atch my point.
(1) in his study room : . { ﬁ) absorbed in reading

(3) absent-minded | N, ‘:M ‘f4) in a state of shock
ROl

A good teacher should have the gif
(1)  agood personality. ] a talent for acting
(3) atalent for speaking (4) an interest in discipline

Directions (Questions 15-16): A word has been written in four different ways out of which only
one is correctly spelt. Choose the correctly spelt word.

15.

16.

(1) Etiquete (2) Etiquette
(3) Ettiquete (4) Ettiquelte
(1) Millonare (2) Millionaire
(3) Millionare : (4) Millonaire
3 632-C
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Directions (Questions 17-20) : A passage has been broken into five parts. Choose the correct
sequence to make it a meaningful passage.

17 A
B:
(5
Bi:

E:

(1)
3)

18.

;2

19.

= mgaow

3)

20.

%

The knowledge so far available about the endocrine glands is very limited.

Nature has provided the body with proper regulators and protectors,

These are our endocrine glands.

And so the proper functioning of these controllers of our body is very important and
most vital for health.

However, all the medical sciences have accepted the fact that these endocrine glands
secrete thousands of different types of hormones directly from our blood.

ABCDE (2) BDCAE
BDEAC (4) CBADE

Seconds later, the glaring object swept past and he thought he had out maneuvered it,
While flying over enemy territory, Jones received the warning of an oncoming
missile.

He was proved wrong when he saw the vertical tail fins on fire. "
Without wasting time, he slammed the throttles forward and made the plane roll into
a high speed turn.

Hardly had he responded to the message wheW%fﬁally saw what every fighter
pilot dreaded most. . i

BEDAC
'CDEAB

A taxi was summoned and Satish was taken to Lifeline Hospital.
While hurrying home from school, Satish was hit by a car.

Since they did not succeed, they decided to take him to a hospital.
Some people rushed towards him and tried to bring him to his senses.
He was thrown a couple of feet away and lost consciousness.
ABCED (2) BDCAE

BEDCA P (4) CBAED

Many consider it wrong to blight youngsters by recruiting them into armed forces at
a younger age.

It is very difficult to have an agreement on an issue when emotions run high.

The debate has again come up whether this is right or wrong.

In many countries military service is compulsory for all.

Some of these detractors of compulsory draft are even very angry.

ACBED (2) DCAEB
BDEAC (4) DAECB
4
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Terder (e 29-31) : o g ferehenit & & v S e v BT -

29.

30.

31.

32.

33.

34.

Forder (v 35-37) Frfeifi vt o wfy-formdn @ wm fem o fomet & 2 w9t =0 ot -

(1) v (2) W@
3) v (4) Tm
(1) = R (2) g™
@ fm @ @
(1) sEifes

(2) sfiafirs

(3) sifieg

(4) snuifies

Fe e fa 43 e e e o
(1) Fwer )

(3)  wewE )

T 0 forspeal & @ st 1 qfeenT v St
(1) wFEa 1 P &

(3) g A © @ FrHE

T 1 4 fo et et 3 for Pt fampe 3 & w8 v g
1) &t (2 gt
(3)  geit | (4) T

35, fr=m
(1) Tag+sm 2) &+wm
(3) o+ =m 4) FH+wm
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WA — 11 (99 : 41 & 200)

’ 41. H@ﬁwwﬁmaﬁmn%%’ﬁrmﬁ%ﬁwﬁsﬁ@w%v
\;J (1) dfee Favipe
(2) e

(3) TUHH. HIARET

(4) T G HE T

42, AU FARier (A e fre aRiE i wAE S E 2
(1) 5 faam=r (2) 22 5EE
(3) 3 SRR (4) 15

43. e ferd S (RBI) % 239 TaeR i & 2

_ (1)  TOH TifE= T : @ dyg=mm
| (3) e e (4) THEFE- \Q

44. 3T 2013 ﬁﬁﬁwmwﬁﬁwaﬁﬂﬁwm
(1) g e '
(3) T A

45. fava w@meg dMeT (WHO) & o

46. 7 & 1 G T G 3 7T, T e U ¢ Rieren % oiashad g He9i 3K ¥

(1) TTEET met (2) uh e
(3) wuEd faE (4) AT A
47. 2013 ¥ weifr TR (ISRO)W%W%M@WWWGSAT? Bl
A G o S S |
(1) s A L
(3) et (4) Uvel
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41.

45.

Part — 11 (Questions : 41 to 200)
Who has been named for the Tagore Award for Cultural Harmony 2013 ?
(1) Pt Ravi Shankar (2) Zubin Mehta
(3) N C Satyanarayana (4) None of these

Which of the following days is observed as the “International Day of Charity” ?
(1) September 5 (2) August22
(3) October 3 (4) July15

Who is the 23" Governor of the Reserve Bank of India (RBI) ?
(1) Raghuram Govind Rajan (2) D Subbarao
(3) V V Reddy (4) None of these

Who has been appointed as the new Foreign Secretary of India from August 2013 ?
(1) Sujata Singh (2) S Jaishankar
(3) Ranjan Mathai (4) None of these

Who among the following is the Dircctor-General, WHO ?
(1) Margaret Chan f (2) Jose Graziano Da Silva
(3) Roberto Azevedo (4) None of these

The recently launched book “The Good, The Bad and The Ridiculous’ is co-authored by
Humra Quraishi and

(1) Rajmohan Gandhi (2) Mark Tully
(3) Khushwant Singh (4) Taslima Nasrin

GSAT-7, India’s first full-fledged communication satellite built by ISRO and launched in
2013, is also known by the name

(1) Laxmi (2) Rukmini
(3) Bhagirathi (4) Aishwarya
9 : 632 -C
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48.  fobw e Seft 3 el fr ek v w0E 92 9 F S o o % W W F A
fafir= tfterem 3R detie =l wedt & 2
(1) v (2) #=m
(3) i (4) uwast
49. viag 2w faeet A s 0 ddy e 3w a2 0
(1 == (2) fa=wes
(3) Wl 4) +*9
50. g T (4%.) & HEnURY e g @ R A 0
FHrrated Wl \(2) s
(3) Torave SHiheq (4) ZHmRes gt et
N
51. 9Rd I SR wfeen @ A9 7 s e g e %ﬁ"%ﬁ__mwm%ﬁm
R T g | '\%
(1) ween 2 T
(3) T (4}'%}
52. R IPCC & Q1 am &7 & 9
53. G-24 ¥ @ sifmiseha de% ait G20 e ¥ Fa Hh w S S % o @ dow
3HRTET 2013 | 7 A= & |
(1) Fom (2) e diEde
(3) =/ (4) airEeT
54. 5 wfaffuc sfufrm, 1951 @1 fbw a3 sieta fret Frafes &3 & maem o @ & fao
Fraift & & et & 48 o #1 arafy % S eifoeE @ OF ST % AELA A T
BT fopalt ot Fratert gremht =1 wewl fafg & 9
(1) =mr75 (2) 4RT126
(3) ®RT112 (4) uwI45
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48.  Which electronic company has launched the Galaxy Gear, a “Smart Watch” that can run
applications and internet with its own family of smart phones ?

(1) Apple (2) Samsung
‘ (3) Nokia 4 LG

49.  Which country does well known tennis player Novak Djokovic belong to ?
(1) Spain (2) Switzerland
! (3) Serbia (4) Russia

50. Name the ruling political party of the United Kingdom (UK).

(1) Conservative Party (2) Labour Party
(3) Liberal Democrats (4) Democratic Unionist Party
51. The Indian junior women’s hockey team has made history by clinching the ____ position
at the Junior Women World Cup 2013.
(1) First (2) Second
(3) Third : (4) TFourth

52. The acronym IPCC stands for

; (1) International Political Conference Committee.
(2) Intergovernmental Panel on Climate Change.
(3) International Protocol on Carbon Compounds.

(4) International Parliamentary Cabinet Committee.

53. The G-24 Ministerial Meeting and G-20 Finance Ministers’ and Central Bank Governors’
Meeting took place in October 2013 at

(1) Brisbane (2)  Saint Petersburg
| (3) Cannes (4) Washington

! 54. Which section of the Representation of the People Act, 1951, prohibits displaying any
election matter by means, inter alia, of television or similar apparatus, during the period
of 48 hours before the hour fixed for conclusion of poll in a constituency ?

(1) Section 75 (2) Section 126
(3) Section 112 (4) Section 45
11 632-C
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55, uferd T % 87 ¥ 9 2013 1 AT T = R Ty |
(1) fafeem (2) i
(2) ey (4) i fas
§6.  Freicifan & @ fory de 3 arrgar 2013 # s oA S T E
(1) ¥z dF 3iEage
(2) fofededw
(3) fema sitavds %
(1)  FRER d%
57. Ww%ﬂaﬁ‘mﬂnﬂ%aﬁwwwﬁ#m@memﬁ F ary
Y T JEH Bl G Y |
(1) Frora g (2) R T '\Q
(3) enisex fagem wwe ) zram\%o
‘A
58. @ & | it & w1 8 I uwa ¥ g mm
(1) 39 v 1 391 foerm %
(2) SWIEE FH FIEAY T RN
(3) S Hifewr & weta &y \)f
(4) ST B SR FYHTEE
LN
59. 2013 T Ho=1 merey 2 '- & (IBL) # feperft 2t 3 feear forar 2
(1) 6 \3:’;'/ “@) 8
(3) 10 4 7
60. mwmﬁrmﬁﬁmﬁ%nﬁrmﬁm*ﬁﬁ%mzﬁmmﬁ
@ﬁmwﬁ%@mﬂmw%l? .
(1) IR FHE et @ .
(2) &R SR gda F3k
(3) fed fovsy wewR
(4) fed foea e wg
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55.  Alice Munro has been awarded the Nobel Prize for 2013 in the field of
(1) Medicine. (2) Economics.

(3) Literature. (4)  Physics.

56.  Which among the following banks celebrated its centenary year in October 2013 ?
b (1) State Bank of Mysore (2) Syndicate Bank
' (3) Indian Overseas Bank (4)  Allahabad Bank

57.  US retail giant Walmart Stores Inc has called off the joint venture (JV) with the ___in
October 2013 ?

(1) Reliance Group (2) Bharti Group _
4,
(3) Aditya Birla Group ' (4) Tata Group \Q
; . 4aS :
58. “Keran’, the area recently in the news, is located in art of India ?

(1)  Unnao Distt in Uttar Pradesh %
(2) Kedamnath Valley, Uttarakhand '\Q

(3) Coastal area in North Odisha @

(4) Northern Kashmir, J&K @

59. How many teams the first ever Indian Badminton League (IBL) held in 2013 ?
(1) 6 X 2) 8
(3) 10 4 7

60. Who has been chosen for the 21% Rajiv Gandhi National Sadbhavna Award for his
outstanding contribution towards promotion of communal harmony, peace and goodwill ?

(1) Ud Amjad Ali Khan
(2)  Ud Zakir Hussain
(3) Pt Birju Maharaj
“

Pt. Vishwa Mohan Bhatt
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62. Trfafas o 9 w4 after R 91 2 |
M A (2) D
3) E : 4 C

63. THATER AT Iﬁrﬁwﬁmﬁm:rﬁmv '
(1) =fear & ' (2) ST

(3) Tew (4) =g

64. Ty=fofad 4 § = aier @R & 2
() A 2 C
3) B . 4 F
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(1) Hfaar 2) =%
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Directions (Questions 61-65) : Read the Jollowing information carefully and answer the
questions given below,

There are six writers of literature A, B, C, D, E and F. Two belong to the 17" century, @'Eit_‘-:
thc_l?_‘h__century and one to the 20" century. Four were recognized as great pocts, three as great
Bovelists and three as great dramatists. One contributed to Bengali, two to Hindi, two to Marathi
and one to the Tamil literature. The 20" century writer wrote poetry only and_ggp_tibllied to
Marathi literature and the other Marathi writer contributed to poetry, novel and drama. One
Hindi writer and the only Tamil writer Belonged to the 19" century. The former contributed to
poetry and novel while the latter to novel and drama. The Benéali writer belonged to the 17"
century and contributed to poetry only.._A bglonge('i to the 20™ century, B wrote drama only, C
contributed to Marathi literature, D was a Hindj poet and novelist and belonged to the 19"

century. £ also belonged to the 19™ century, and F contributed to poetry only.

61.  Writer B contributed to which language ?
(1) Bengali (2) Hindi
(3) Marathi (4) Tamil

62.  Who was the Tamil writer among the following ?
1 A (2) D
L3 B : “ C

63. Writer 4 contributed to which branch of literature ?
(1)  Poetry (2) Novel
(3) Drama (4)  All of these

64.  Who was the Bengali writer among the following ?
1 A 23 ¢

(B) B (4) " F

65.  Writer C contributed to which branch of literature ?

(1) Poetry (2) Drama
(3) Novel (4) All of these
15 632-C
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W (997 66-67) : 70 T & 5T H UBel U FYT AN [T 7 =d [ aur 1] R qw & | e S
§9% [HT O AR | $el o F @ FiA-47 [ e & | 3 397 e w7 O
(1) 3 fesd 1 Feperar et |
(2) afs fewd 11 fFeperar & |
(3) @ a4t fewd 1 11 feerar &t |
(4) =T ar fepd 12377 & 11 Fear e |

66. FHYT: ISV AN b FIAT I & oAb Wiilq % &3 7 F8ew a9 AR FW1 FH ¥ o0
ot e & S A e |

frees

L. R & I U607 SR -1 F T Al

II.ﬁﬁﬁmnﬁmaﬁ&qﬁ,mmmﬁ?rwm‘EQ
p;

67. m.—'wﬁvﬁaﬁﬁmﬁaﬁnﬁ%wﬁﬂﬂ%’ﬂmﬁwnﬁrﬁaﬂﬁ%i
For : o % op
L. e el 1 A e § |
11. =] |0 %5 & ST =Ey |

68. Hiom; St e i 42t &, S & e ¥, “qrent W v, 5 S F oE 96 § o aenel |
Trad Tar &7 | THeTeT Al | e ey § 0

1 2) faar
(1) == ) vu«!ﬂ‘-g‘:s

(3) ERIAR (4) W b
69. == TE SfEen § W g U GE&F1 A S Srehl WA § HeA 7 -

1,3,10, 21, 64, 129, 256, 778

(1 10 2) 21

(3 129 (4) 256

70. I UH WW P& 9w H MOBILITY & 46293927 fomr =n & o 3°f 97 o
EXAMINATION =i s v feram s 2

(1) 45038401854 - (2) 56149512965
(3) 57159413955 (4) 067250623076
632-C 16
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Directions (Questions 66-67) : Each of these questions has a statement Jollowed by two

conclusions I and II. Consider the statement and the following conclusions. Decide which of the

conclusions follows from the statement. Mark the answer as M @ @ I 2- E T \.(
(1) if conclusion I follows.

(2) if conclusion II follows. b\ é 9 9 3 ﬂ 29

(3) if either conclusion I or I follows. EXAMTET N AT To N
(4)  if neither conclusion I nor II follows. 18 |1 9 %2. 9

66. Statement : A good voice is a natural gift; but one has to keep practising to improve and

excel well in the field of music. w W

Conclusions: \l/ ; L% A/
I. Natural gifts need nurturing and care. W e
II. Even though your voice is not good, one can keep practising, { ——

67. Statement : Domestic demand has been increasing faster than the production of
indigenous crude oil.
Conclusions:
L. Crude oil must be imported.
II. Domestic demand should be reduced.

68. Neelam, who is Deepak’s daughter, says to Deepika, “your mother Rekha is the younger
sister of my father, who is theth?ﬁd child of Ramlal”. How is Ramlal related to Deepika ?

(1) Uncle (2) Father
(3) Grandfather (4) Father-in-law
Iy2+ =z 3
69. Choose the odd one from the given series. 3+ = I; |
1,3, 10, 21, 64, 129, 256, 778 1ox2*! T 6\
' 1) 10 @ 9 WS
(3) 129 @ 256 W

wd

70.  If MOBILITY is coded as 46293927 in a certain language code, then EXAMINATION
will be coded in the same language code as

(1) 45038401854 (2) 56149512965
‘ (3) 57159413955 (4) 67250623076
P . 17 632-C
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W%WW%RWﬁ%mﬁzﬁﬁmw%iwﬁﬁmﬂwé?

(1) 39 @ 14 (3) 25 @) 27

73. X 6 ufct T i A 5 oo et 4 R e 3 e e € 7 oh Reu Siee 5 e
i1 fagror SR fopar ST & 1 wE Srae B wh e e = s 2
(1) %850 (2) %825 (3) ¥9.50 (4) %925

74. et o T ST S ® w 420% ST —10% T B R o & s
&% H wiere gied= = g 2
(1) 10% () 125% (3) 8% 4) 15%

75. U PRI X 6,900 it Sieft ST 15% 7 A ¥ | 2 FAE o 30% 5 S0 s
TR T BT 1S T wina 20% g S i 5t
(1) 6.15% Sy T2 3) ¢ d (4) 8.50%

76. tﬁa&%%ﬁ?l,mowﬁm%|4nﬁ#%aﬁa¢i‘} F T = W AR T 1,800
miﬁm%ra&%ﬁaﬁﬁ%ﬁwmﬁqfﬂ“}té&é%msﬁﬁ’ra%mﬁa:mﬂﬁmﬁr
&2
(1 9% 2 6% (3) 8% @ 12%

77. W SR 50 Rl & v AN G B HW o ¥ | 9E 95 R 50 =P Hm W e b |
§if 25 fiedl o &S o 3w & i HIH R T 40% S S # | W 10 R vt
S & o S @i et <l s b v e g 9
1 7s @ 9 (3) 115 4) 125

78. U i 5 TR A A o gu e v ¥ aifed 20 B 9 30 @ vhew v o
IR =e 7.5 Pl @Rl A 7 12 e weet st siift veeAT | S W R ST g4
et & 2
(1) 6 fet (2) 7% (3) 8T (4) 9 feeut

79. W URY A R B U ! H A 15 3% 20 fre & wx o § 1 59w v ae @ o &
T 4o a1 Uy A &% w5 foan e & 1 8 R 7 e e e w0
(1) 10 fFe 40 gz ) 1145 T
(3) 12fFe30 9ke 4) 14 WFe40 Fe

80. ST A 30T B H R 90 Wlet 30 A 90 Fex urt R ¥ | A & 30 #zx 3w Faw A B §
ST A & | X e e 39 o A 99 12 wlew frer o e A § = e e & | dee
A F Tt =1 wfererer fopem & 2 ¢
(1) 14.5% () 125% (3) 15.5% @ 175%
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71. Saina was given some money by her father on her birthday. Saina spent all of it in five
shops. In each shop, she spent one rupee more than half of what she had when she came !
in. How much did she get from her father ? _

(1) %30 (2)° 120 (3) 40 (4) %62 \
A school has 378 girl students and 675 boy students. The school is divided into strictly .
boys or strictly girls sections and all sections in the school have the same number of
students. Find the number of sections in the school.

(1)~ 39 2) 14 3) 25 4 27

3 kg of rice at Z6 per kg is mixed with 4 kg of rice to get a mixture costing ¥ 7 per kg.
Find the per kg price of the costlier rice.
(1) T8.50 (2)  T825 (3) ¥9.50 (4) T9.25

74. The length and the breadth of a rectangle are changed by +20% and by —10% respecnvely
What is the percentage change in the area of the rectangle ?
(1) 10% (2) 12:5% (3) 8% 4) 15%

75. A manufacturer makes a profit of 15% by selling a colour
manufacturing increases by 30% and the price paid by the r
find the percentage of profit made by the manufacturer. . G
(1) 6.15% 2 7.25% (3} 6,70V (4) 8.50%

is increased by 20%.

76. Ravi borrows a sum of ¥ 1,200 at the beginnin
of T 1,800 more is borrowed at a rate of interes
year, the sum of interest on both the loans is
annum ?

(1) %% 2) 6% (f"' W'3) 8% (4) 12%

~year. After 4 months, an amount
¢ the previous one. At the end of the
What is the first rate of interest per

4

77. A contractor undertakes to builg 1'in 50 days. He employs 50 men for the same.

However, after 25 days he findsthat the work is only 40% complete. How many more
men need to be employed to complete the work 10 days before time ?
1 75 ,L@‘- 95 By 115 4) 125 \

78. A man travels fm use to his office at 5 kin/hr and reaches his office 20 minutes
late, If his speed hai 17.5 km/hr, he would have reached his office 12 minutes early.
Find the distance from his house to his office.

(1) 6km (2) 7km /(3/8km (4) 9km

79. Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectwely Both the
pipes are opened together but after 4. minutes, pipe A is turned off. What is the total time

required to fill the tank ? _
(1) 10 min. 40 sec. (2) 11 min. 45 sec.
(3) 12 min. 30 sec. (<) 14 min. 40 sec.

80. The contents in beakers A and B are 90 litres of milk and 90 litres of water respectively.
Now 30 litres of milk is taken from A and put into beaker B. After thmough mixing, 12
litres of the mixture is taken from B and put into beaker A. What is the percentage of
water in beaker A ? .

. (1) 145% (2) = 12.5% (3) 155% 4) 17.5%
19 632-C
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84.

85.

Human personality is the result of

(1) heredity only.

(2) environment only.

(3) upbringing and education.

(4) interaction between heredity and environment,

Learners often display individual differences. Therefore, a teacher should
(1) enforce strict discipline.

(2) maintain uniform pace of learning.

(3) provide variety of learning experiences.

(4) have more tests.

In the context of education, socialization means
(1) always following social norms.

(2) adjusting and adapting to social environment.

(3) respecting elders in society '\Q
(4) None of these 0

What is the natural language acqmmtance in thc
(1)  Writing, hearing, speaking. Eadlng

(2)  Hearing, speaking, reading. ‘wntmg'
(3) Speaking, hearing, reading. wri

(4) None of these %

Being a teacher, w
(1) Givehi
(2) Feel sham oi the class.
(3) Inspire hi ork hard.

(4)  Punish him/her severely.

method ?

logical treatment.

when a good student scores less marks ?

When previous learning makes no difference at all to the learning in the new situation, it

is called -
(1) negative transfer of leaming.
(2) positive transfer of leaming.
(3) zero transfer of learnﬁ.
(4) absolute transfer of leaming.
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‘Who is mainly responsible for class! anagement ?
(1) Students
(2) Principal
(3) Class-teacher
(4) None of these

Teachers should study the errors of
(1) level of their knowledge.
(2) need for differentiated curric
(3) pathways for ability groupin;

students as they often indicate the

(4) remedial strategies required.

A creative learner is one who is
(1) highly intelligent.

(2) good in drawing and painting. g Q
(3) good at lateral thinking and problem solving, \

(4)  capable of scoring consistestly good marks in t@’
' :

When a teacher takes his/her c? for a field on coming back discusses the trip
with students, it is called

(1) assessment for learning. u '\Q

(2) learning for assessment. Q

(3) assessment of learning. %Q

(4) learning of assess u\%

Which of the foll generally considered the most effective way to change behaviour 7
(1) Regular awards

(2) Good advice

(3) Physical punishment
(4) None of these

Students are given homewerk primarily because

(1) ithelpsin assessment of the success of the teaching process.
(2) it helps to reduce mi@e\(ous activities of students.

. (3) enables a child to study at home also.

(4) it saves teachers’ work.
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3.

9s.

96.

97.

98.

99.

100.

The main job of a teacher is to

(1) focus on teaching only.

(2) point out mistakes of students continuously.
(3) help the students to learn for themselves.
(4) None of these

Which of the following is/are a correct statement(s) ?
(1) Leaming capacity of all children is different.
(2) Most children have similar nature.

(3) Most children possess similar interest.

(4) All of these

Teaching of students should be according to
(1) their nature. (2) their mental development.
(3) their capability to learn. (4) All ofthese
5
Which of the following is a feature of progressive education ?
(1) Instruction based solely on prescribed text books.
(2) Emphasis on scoring good marks in examinations.
(3) Frequent tests and examinations,
(4) Flexible time-table and seating arrangement.

Due to the utilization of various methods in teaching
(1) teaching has become simple. (2) teaching has become interesting.
(3) students pay more attentiqg' (4)  All of these
4
Which of the following fields ismot covered by educational psychology ?
(1) Philosophical basis of education.
(2) Group dynamics.
(3) Evaluation of teachers and researchers in education.
(4) Process of adjustment.

Similarity or difference of a person from others in his performance is due to the effect of
(1) his heredity. (2) his environmental training.
(3) Both (1) & (2) (4) None of these

Psychological principles and theories can be applied in the field of

(1) Management (2) Business
(3) Medical treatment (4) All of these
25 632
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103.
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(3) HEHHEET _
105. C++ H %IE 9= 37569 (\On,\Hn,\n,\f) fe ot =1 @os =21 £ 2
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Write ™
(1) daE® (2) wEme
(3) Aud 4) ez TSy
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101.

102.

103.

104.

105.

106.

107.

108.

(1) Band width. (2)  Doppler effect.

When the object making the sound is moving towards you, the frequency goes up due to
the waves getting pushed more tightly together. The opposite happens when the object
moves away from you and the pitch goes down. This phenomenon is called I

(3)  Sound refraction. (4) Vibrations.

Even when the screen is completely dark while the film is in motion, commercial
motion pictures use

(1) 32 frames per second or 102 screen illuminations per second.

(2) 72 frames per second or 234 screen illuminations per second.

(3) 8 frames per second or 32 screen illuminations per second.

(4) 24 frames per second or 72 screen ill uminations per second.,

Internet Control Message Protocol (ICMP)

(1) allows gateways to send error control messages to other gateways or hosts.

(2) provides communication between the Internet Protocol Software on one machine
and the Internet Protocol Software on another.

(3)  only reports error conditions to the original source, the source must relate errors to
individual application programs and take action to correct the problem.
All of these

refers to those attributes of a system visible to.a programmer or, put another way,
those attributes that have a direct impact on the logical execution of a program,

(1)  Computer organization (2}~ Computer architecture

(3) Microprocessor (4) Bus

How many characters does an escape sequence (\On,\Hn,\n,\f) in C++ consume ? '
1y 1 NONCS |
3) 2 (4)  None of these

The closeness of the recorded version to the ori ginal sound is called

(1) Fidelity. (2) Digitization.

(3)  Sampling. (4)  Nyquist Theorem.

Which layers of the OST'model are host-to-host layers ?
(1)  Transport, Session, Presentation. Application.
(2)  Network, Transport, Session Presentation.

~27~ Datalink, Network, Transport, Session.

(4) Physi;:mal, Datalink, Net\ff;rk, Transport.

The following diagram depicts a cell.

Bmary
Input——->|  storage  — Output |
cell .

Fy
Read ——1
Write
(1) storage (2) mobile
(3) memory (4) register
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109. The diagram below represents

110.

111,

112.

113.

1 billion
transistor CPU
107 N —
10°
E107
B
(5]
E 10
g 7
E-E-“)
104 J h*
10°CF
1970 1980 1990 2000 2010
(1) Moore’ law. (2) Newton Raphson methiod.
(3) Boyle’s law. ~ (4) Gregor law.

____ is the first Intel x86 microprocessor with a dual core, referring to the
implementation of two processors on a single chip.

(1) Core (2) Core 2 duo

(3) "Dual core (4) Centrino

chips are high speed processors that are known for their small die size and low
power requirements. They are widely used in PDAs and other hand held devices,
including games and phones as well as a large variety of consumer products. It is probably
the most widely used embedded proeessor architecture and indeed the most widely used
processor architecture of any kind in the world.
(1) HAND ; (2). LEG
(3) ARM (4) SUN

Which of the following is not true for overloaded functions in C++ ?
(1) Overloaded functions should have different argument lists,
(2)  Overloaded functions having the same argument lists should have a different return type.

(3)  Functions cannot be overloaded on the basis of one being static and the other non-
static.

(4) None of these

A is a communication pathway connecting two or more devices. Another of its’
key characteristic is that it is a shared transmission medium. A signal transmitted by any
one device is available for reception by all other devices attached to it.

(1) Train (2) Bus
(3) Tram (4) Aeroplane
29 632-C
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114.

115.

116.

117.

118.

=1 ama it &, v

5} . o ’“\..'
(1) =9 Saqufsd g (2) U FaEuiET g
(3) T1o. “4) 93
ﬁﬂmﬁawwﬁ@ﬂ#ﬁmwm?

(i) Student S1;

(ii) Student S2 = S1;

(1) weet copy constructor, a18 ¥ default constructor.
(2) 9 default constructor, & copy constructor.
(3) 3 FewH F AT Default constructors,

(4) = FE W F o Copy constructors.

(1) e ) T
3) 9T 4) =
et EMP ifoh o w35 e At o v e e i
EMP_NO | SALARY GRADE
E001 1000 | E1
E002 2000 | E4
E003 1500 | E2

E004 4000~ [F4_ |

ﬁwﬁﬁ%&w'maﬁ'mha%mmﬂﬁ&, 3% &8 “E4” 9s % shart @ ot de
fezam & 2 '

(1) select avg(salary) from EMP whose grade="E4”;

(2) select avg(salary) from EMP having grade="E4";

(3) select avg(salary) from EMP group by grade where grade="E4”;

(4)  select avg(salary) from EMP group by grade having grade="E4";

Pﬂ?voﬁw%ﬁwg@:mﬁmﬁqum&ﬁwﬂﬂfwﬁ%mm%?
(1) P SR SoEae ) RS EER
(3) o T @) T

119.ﬁﬁﬁwwwqﬁﬁmaﬁﬁqlﬁﬂﬁmﬁstﬁﬁﬁo,lﬁrxﬁfsﬁm
Ef 1 Weam s i 9

1 1 (Gyeia

(3) 3 4 4
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114. The following diagram shows a

CPU Memory [| eee | Memory | O || eee 110
00— -
Control lines
NI 1T L1 III|
Address lines : Bus
17 [1 11 ] |
Data lines
(1) Bus interconnection scheme. (2) Memory interconnection scheme,
(3) lO. (4)  Throughput.
115. Which constructor will be called by the following lines of code ?
(i)  Student S1;
(il) Student S2 = S1;
(1)  First copy constructor, then default constructor.
&2y First default constructor, then copy constructor.
(3) Default constructors for both lines of code.
(4) Copy constructors for both lines of code.
116. memory is intended to give memory speed approaching that of the fastest

memories available, and at the same time provide a large memory size at the price of
less expensive types of semiconductor memaories.

(1) Register (2) Counter
(3) Flip flop (4) Cache
117. Consider the following EMP table and answer the question below: P

EMP_NO [ SALARY | GRADE B
E001 1000 El
E002 2000 E4
E003 1500 E2
E004 4000 E4

Which of the following select statement should be executed if we need to display the
average salary of employees who belong to grade “E4” ?

(1) select avg(salary) from EMP whose grade="E4":

(2) select avg(salary) from EMP having grade="E4”;

(3)  select avg(salary) from EMP group by grade where grade="E4”;

(4)  select avg(salary) from EMP group by grade having grade="E4";

118. The major functions or requirements for an I/O module fall into which of the

{ following categories ?
(1) Control and timing. €2) Processor communication.
(3) Data buffering. (4) All of these

119. Consider an arbitrary number system with the independent digits as 0, 1 and X. What
is the radix of this number system ?

(1 1 @ 2
(3) 3 4) 4
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|
|
120. The following diagram shows a i
A . |
. Y=A®B
| : | |
(1) Exclusive-NOR gate (2) NAND gate '
(3) AND gate (4) OR gate l
121. The following diagram depicts logic.
+V
: ‘ Y=AB : y
Aoi— _ 2 L
Bo—j—— ;
|
(1) diode " (2) transistor
(3) diode-transistor ~ (4) resistor

122. The diagram below shows a
A

1 —)D—. 5O
! B A

(1) Halfadder ~ . (2) Half subtractor
(3) Full adder .. (4) Full subtractor
; 123. Which of the following statements is true ?
(1) TheJAVA compller produces a code for JVM, which is executed by a JAVA
interpreter. -
1 (2) TheJAVA compller produces a code directly for JAVA 1nterprcter
(3) The JAVA compiler directly executes code in JVM.

(4) The JAVA compiler helps in directly executing a code on dlfferent operating
systems,

124. Alan , also called a data selector, is a combinational circuit with more than one
input line, one output line and more than one selection line.

(1) de-multiplexer (2) multiplexer or MUX
(3) operational amplifier (4) integrated circuit

33 632 =c

@Teacningninia.in



125. <t ¢ 3l & A uitoe gry frenfea e wm S |

I—1,
MUX Y 1
12—. Ig g
L S
MUX Y —+F
_]0 "
1,—] llm 3
Io'—". 10 g 4
—
L 4 l >
51 Sy -
(1) 4% TR (2) 8F 1 ARITRT
(3) 16% 1 Geeiwiaay (4) 32¥ 1 AIEE
126. % ag-chie URuY 98 & ST P (Low) @91 359 (High) 3T Sere g1 e gieft & |
(1) U ferfaes @) e
(3) g fefaw : @), fuferfe
127. T3t uwer fefas sgafima afas & g o foe amgfa &0 o991 € | for 8 (IC #1 fim2)
10 kHz &1 gAfaad T a1 €9 9 ferd ¢ | T T B T iR Hiw |
| ~ AV - ~
| i
! >
1 &F 3 p—— Output
i Trigger Input > - 2 <555
' . L 001= 5 1
% 3 ] J_(].ﬂl
. (1) 056 @) 055 (3) 057 (4) 0.8

128. wmwmwﬂﬁﬁﬁqﬁilngsvwﬁaﬁ%ﬁﬁlmmﬁmmﬁ
W T g (a) IeE | F @ﬁ?ﬁﬁm (b) =1 § s EiswA
(1) 28VaHT1I8V 2 3vV3IH2V
(3) 4VaR22V (4) 2.6VARLSV

......

129. U a9 U5 § 3 S1 30 €1d ¢ | 89 [ §R1 S1e8T F1 f=e9E 1ifd =i =g o & |
(1) 36 iskanad it us e fomfed & |
(2) 3FF IS F Y | ik
(3) WERUT A Hi A B d@HL | o2 IR 911
(4) WoIEA i gEF AER TS | ' .
130. et 8 fare D/A itafcsr =1 farsieer wfererer e & L
(1) 0.39% ) 0.38% (3) 0.50% 4 051%
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126.

127.

128,

129.

130.

— I

4r

Sy
(1) 4-to-1 multiplexer
(3) 16-to-1 multiplexer

A multivibrator circuit is one in which both LOW and HIGH

(1) Monostable
(3) Multistable

Refer to the
(pin 2 of the

the duty cycle of the ou

'I'riggerlnput)——;—-_\.

In a Schmitt trigger inverter circuit, the two trip points are observed to occur at 1.8 and
2.8 V, At what input voltage levels will this device make (a) HIGH-to-LOW transition and

(1) 28V&18V
() 4V&22V

A web page contairs
browser by

(1)
(2)
(3)
4

having multiple

The percentage resolution of an eight bit D/A converter ig
(3) 0.50%
35

(1)  0.39%

(2)

(2) 8-to-1 multiplexer
(4) 32-to-1 multiplexer

output states are stable,

(2) Bistable
(4) Tristable

monostable multivibratur,cjrk:uit in the figure below. The trigger terminal
IC) is driven by a Symmietrical
tput waveform.

pulsed waveform of 10 kHz, Determine’

[‘m—r‘—q\/h
10K ce

—l

3 ——— Oulput

1 ¢ .5 1

.01

2) 3v&2v
(4) 26V&l1s5V

many small images. We can speed up the performance of the

having multiple processes executed simultan eously. . \ -
threads. ' |
increasing the speed of the transmission lipe.

increasing the main memory of the system.

0.38% 4 051%
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131.

132.

133.

134,

135.

136.

137.

17 Java %52 %1 geraan ¥ Class Student I TS i i
class student{ )
string name;
int marks;
53
public static void main(){
student S1=new student();

student S2=new student();
}
(1) =gl name (2) name =T marks =T
(3) =aer Sl (4) S1@=S2 3Hr

A% w1 IR o US W ghst () 2§ wem e ae A S e 0 SeaT
(&) WS &1 @ 9 HTML # Fret wieqort & & fores 2m0 fafafee = st 2

(1) ALTERNATE (2) ALTLINK

(3) ALT _TEXT (4) ALT

T UL (WRof) &l &

(1) T waifes e ST (2) U S EE

(3) = gRfEF T TEAr @ =mwm

7 3w e St 2 S fan, ol s avered s oo F den § |

(1) 3srgem @

L\ \
(3) fergm (@) @*\
T (Sorting) & '

(1) ot faferee 56w o fow o w1t wqeerai ) we T T UH U
(2) &2 5 e F el @ 4% 7 g e

(3) iR ar e e & deRim T & do wa |

(4) T \

et st we B (sort). BT R el & |

/ 06\{5

12
/4%4/ \//12\ | 13/ \(}6
44 \\55 12 42 94/ \s 06/ \67
(1) & @) W%
(3) @ (4) ATEvE
=1 ampla ww T URTT Ht § |
(1) 3-Fife & Fewe g% () 29w
(3) 1-=ife & fewad aw (4) 4= F T am
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R e e e

131.

132.

133.

134.

135,

136.

137.

From the following Java code determine the attributes of the class student:
class student { L.

string name;

int marks;

pilblic static void main(){
student S1=new student();
student S2=new student();

(1)  Only name. (Z)  Both name and marks.
(3) OnlySlI. (4) Both S1 and S2.

If a user is not able to see the image on the web page, the text that is displayed in place
of the image, is specified by which of the followin g attributes in HTML ?

(1) ALTERNATE (2) ALTLINK
(3) ALT_TEXT (4) ALT
An array is

(1)  probably the most widely used data structure,
(2)  ahomogeneous structure.

(3)  arandom access structure,

(4} All of these

are used to access data on secondary, sequential-ateess stores, such as disks and
tapes.

(1) Sequences () Arrays (3) Records’ (4) Registers

Sorting is

(1)  aprocess of Te-arranging a given set of objects in a specific order.
(2)  to facilitate the later search for members of the sorted set.

(3) is arelevant and essential activity, particularly in data processing,
(43 All of these P QA

The figure below representsa . sort.

/12 //18 06
44 55 12 42 94 18 06 67
(1) Bubble (2) Shake (3)  Tree (4) Insertion
The figure below represents a
(1) Hilbert curve of order 3 (2)  Hilbert curve of order 2.
(3)  Hilbert curve of order 1. (4)  Hilbert curve of order 4.
37 632 -C
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138. HTML % Geef § stiaftes Fuaeh (linking) T 374 &
(1) T e T R U R S T W S (e g hrge H SEa o
T ® Se |
(2) ﬁLANﬁﬁwwﬁH?ﬁ@maiﬁwwﬁmﬁﬁﬁmm@
|
(3) SRS U T Hi S A F 3= WA A A,
(4) T e i Pt S & Us A T e s A e |

139. T 31l u ol WRFTT FAl § |
(R)
(1) g @) THEE N,
(3) TGEHE (4) qﬁzﬁ&\ ’
X/ Q)

140, SQL # i & wais 3w § Wiofll & wiegs i IR seieeT Hiea a1 1 Hehdl %2
(1) Select fields from dual where table="MA] NAGER™;
(2) Select field_names, datatype from dttal where table name="MANAGER”;
(3) Desc MANAGER;
(4) Select description from dual wheretable name="MANAGER";

141, SQL 7 Terdrss e 3 fou Fetiaies # & i &1 o §ed T8 € 2
(1) T e v flfen O W e 1 R S et 3 R e S € |
) T P T B TS T B R e e |
(3) o T e e 0 A et 49 R € e e S |
4) W%W,'-WW@W%W@@H%W%W%@HWﬁW

Q|

142, SQL # gt & for foet & i o7 e F T € 2
6h) mvﬁﬁrﬁﬂwﬁﬁselectwmmommwmmﬁﬁqﬁﬁml
) Ewm@awmﬁﬂﬁ@wm%l 3
(3) s weped G W i oA T € Gt SPIE G S S © |
(4) us g | 221 F ufepl Wl ¥ | '

143, Tt s 21 % Sifewman & Hevaqel SREIeTE 29 # 5E ¥ | = g ot AT w
3T RIS 1 I WS HAE | :
(1) 3irgd o oars (2) e o8 =
(3) =g Iy T (4) oot fodem
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138.

139.

140.

141.

142.

143.

Internal linking with respect to HTML means

(1) linking one part of the document on one computer, to another part of the document
on some other computer with the same file name.

(2)  linking one part of the document on one computer, to another part of the document
on some other computer in the same LAN,

(3)  linking one part of the document to another part of the same document.
(4)  linking one part of the document to another document on the same computer.

The figure below represents a

(1) Binary tree (Z) Recursive tree
(3) Insert sort (4)  Unitary tree

The command used to see the fields of the table alongwith their datatypes in SQL is
(1) Select fields from dual where table="MANAGER™.
(2)  Select field names, datatype from dual where table_name="MANAGER”;
(3) Desc MANAGER;

(4)  Select description from dual where table_name="MANAGER":

Which of the following statements is NOT true for Rollback statements in SQL ?
(1) All savepoints marked after the savepoint to which you rollbacked, are erased,
(2) It does not free any resources held by the transaction.

(3)  The savepoint to which yourollback is not erased.

(4) The Rollback statement will erase all data modifications made from the start of the
transaction to the savepoint.

Which of the following statements is not true for views in SQL ?

(1)  Select statement used in the view definition cannot include ORDER BY clause,
(2) A view derives its data from the base table(s).

(3) A view is updatable if it has been defined from a single relation.

(4) A view contains a copy of the data.

An important quantitative measure of the complexity of a binary tree is its It
also provides a measure of the average depth of all nodes in the tree.

(1)  average path length (2)  median path length
(3) mode path length (4)  simple deviation path length
39 632 -C
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|Boolean| ICha.ructerI

|Bytc rShon I [Intesef] [Lﬂnsl E

(1) #m (Heap) (2) ¥ (Wrapper)
(3) =T 4
145, =1 3ty Rt g % qeee o AT
(X)
&) @)
® (8
© ©
(1) @ (Heap) ) 7 (B!
(3) = (Splay) (4) EREE
146. = %1 s % U &l i TS 1o R € |
oK
B
2 I8
: B
4 L2l
5 i
i i
7
o2 3 4 5 6 7 ,
(1) Knights Tour. (2) Eight Queens Problem.
(3) Kings Problem. (4) Rooks Problem.

147. XML T (parser) T F1 &
(1) XML fawgesg # HTML fawgasg § wuiar
(2) XML fawaas #1 DHTML faugesq ¥ wuiay
(3) XML faugas % XML DOM faugasg # &9
(4) XML faugesg o el $2 § TR

148, Freifen 2o frelt w1 foer @ weifem # « i Ted 31 # T2 = 600; TvEt 3 wE = 2; v
WY | A H AT = 512; TRZH H GUE &9 = 21 504 000 | 37 #7€ forp % forw v 2

Ve H FEAT A BT |
(1) 35 ' (2) 40
- (3) 45 4) 50
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144. The figure below depicts the hierarchy of class.

Byte |
(1) Heap (2)  Wrapper
(3) Inheritance (4) Abstract
145. The following figureisa tree after zig-zig rotations.

(X)

Heap (2) Bubble
(3) Splay ‘4) Binary
146. The diagram below represents a solution to the
oI
. i)
2
3 i
+[ 1B
5 a
6 i
7 Jif
01 2\8, 489/6 7
(1) Knights Tour. (2) Eight Queens Problem,
(3) Kings Problem. (4) Rooks Problem.

147. The function of the XML parser is to
(1) convert XML content into HTML content.
(2) convert XML content into DHTML content.
(3) convert XML content into XML DOM content.
(4) convert XML content into binary code.

148. The following data refer to a hard disk: number of tracks per side = 600; number of sides
= 2; number of bytes per sector = 512; storage capacity in bytes = 21 504 000. Determitie
the number of sectors per track for this hard disk.

(1) 35 (2) 40
3) 45 4) 50
41 . 632-C
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149. et Feforeer et <ifemaeil % o1 W i A &80 F 100 ms 3 &ifvrhi F1 W0l 5 ST
& | afy =7 eforat @ R 100 kS/s T v 5T 9 oS fRAT ST @1, a SRer HHR H

TR AT AT BIAT =T 2 =
(1) 5K (2) 10K
(3) 15K (4) 20K
150. gt XML F Wi, wsh XML ST9eT T &, 740
(1) < ?xml version="1.0"> (2) <!—xml version="1.0">
(3) </xml version="1,0"> (4) <\xml version="1.0">

151. o GEFEEROT % oy § F § § B o1 Y I el © 2
1) T 4NF TR e faremiaat 3 ufa INF wie & e wfawe #id & |
(2) U INF @it 8, T 2NF SR i e § SR e a6 ¢ |
(3) Te3NEF HIT (table) 2NF Witwlt 3 s goe & © | '
(4) T e 3NF # ¥, U1 e ST & aft swen S Sl 3NF A & |

152. = @ WU BCNF ¥ ¥ 3T 56 ¢ sgaed Pt =@ ¢, 79 %6 ¢

(1) diet g ' | (2) THWARFEFIH

(3) = g w9 A (4) iud FERE FEH
153, FEH § S2T T T AR STET ST &

(1) e ©))

(3) HEEE HEAT (4)

154, Freht BF GEwic 1 Had T A FEA & _
) T e ase (2) T TWE ()
(3) THH ISR AT @) F=d

155. org 1€ ?
(1) @ et ARHY & Sse i i 0% TE WA & |
) T et fe o S SR 3 i w9 @ S gt § S 5 o F ¢
3) Wﬁﬁﬁa@ﬁgﬁﬁmﬁﬂﬁﬁwmsﬁﬁ-'ﬂww%%ﬁ@aﬁw
A % ITET T SAEted Bl § |
4) 2 YoMt T T T & Reat Siver § SS9 S 1 ST S geRal Eve
T A gaifee T s ahar ¥ o :

156. feafa Fremor T Mmmw,ﬂﬂﬁﬂﬁﬁ'&ﬁwwﬁaﬁﬁﬁmﬁ
AR H % AT STTavas Gug S el S § 4 3

(1) e (2) HoTeT fawiear
(3) wW RS (4) TR (3T )
157. RDBMS et 3 drar weier =1 Frstor R o & e <iem & 2
(1) IEEEH . (2) wWE®H
(3) HerRTH ! (4) I F
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149. A transient of 100 ms is to iye captured on a digital storage oscilloscope on full screen
in the horizontal direction. If the transient is to be recorded at a sampling rate of
100 kS/s, what should the minimum size of the acquisition memory be ?

(L), SK (2) 10K
(3) 15K (4) 20K
150. Prolog in XML contains an XML declaration like
< ?xml version="1.0"> (2) <!—xml version="1.0">
@) </xml version="1,0"> (4) <\xml version="1.0">

151. Which of the following statements is NOT true with respect to database normalization ?
(1) A 4NF table is more immune against logical inconsistencies than a 3NF table.
(2) A 3NF table will have fewer anomalies than a 2NF table.
(3) A 3NF table is more vulnerable than a 2NF table.
(4) A database is said to be in 3NF if all its tables are in 3NF.

152. If a table is in BCNF and has no multi-valued dependencies, then it is said to be in

(1)  Third Normal Form. (2) Second Normal Forni.

(3) Fourth Normal Form. (4) Fifth Normal Form.
153. Representation of data structure in memory is known as

(1) recursive. (2) abstract data type.

(3) storage structure. (4) file structure.
154. The largest element of an array index is called its

(1) lower bound. (2) range.

(3)  upper bound. (4) Al of these

155. What is coalescing ? ;

(1) Ttis a second strategy for allocating kernel memory.

(2) The buddy system allocates memory from a fixed size segment consisting of
physically contiguous pages.

(3) Kernel memory is often allocated from a free-memory pool different from the list
used to satisfy ordinary user-mode processes.

(4) An advantage of the buddy system is how quickly adjacent buddies can be
combined to form larger segments using this technique.

156. The positioning time or random access time, consists of two parts: the time necessary
to move the disk arm to the desired cylinder, called

(1) seek time ~ (2) rotational latency
(3) flash drives (4) transfer rate
157 In an RDBMS relationships between tables are created by using
(1) Alternate keys. (2) Foreign keys.
(3) Candidate keys. (4) Composite keys.
43 632-C
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158. ¥raet 2w sfen fawen shen fee waema §2

(1) forrr (2) s
(3) uwEs fawen (4) TIR FHF ALTH.
159, U wmg o 3= € |
H ﬁmﬁﬂﬁ@ﬁﬁ!ﬁ') () Fea= mfg)
(3) W (IHR) (4) R (ERRuREe)
160. Fr=fefen amte ey &
:::I readyqueuel— - :élt’
/O quene Hmmuﬁt b
time slice
expired [°

forka |
child i )
|
ocecurs

wail for an

infermpt -
(1) wfFm go= 2) m&ﬁ@ ar
(3) i s 4y m@ £
161, Freferias s =i & )
- <+—kemel thread
(1) = (2) 3® | TF HisA
(3) UH W UH HEe (4) 3FF § FAF HigA
162. 7% ol § 3709 B § R e et o =i o1 3R 1 92 fetaed 9 i S aer F 1 S
e & )
(1) et og (2) Tder 9 =19
(3) e ooy A (4) e v =

163. Welieh ufran HaK & uehel @S  QEIE &I & S S el WA % 9O @ § 9o et
%. Eﬁﬁtrllt"'ii%l

(1) e i o (2) Ho mia FEe
(3) Her Wi e (4) Hom a3
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158. Real-Time operating system always runs on

(1) Linux. (2) UNIX.

(3) Embedded system. (4) Apple’s Mac OS.
159. A program is a/an entity.

(1) active (2) passive

(3) dormant (4) hyperactive

160. The diagram given below represents

:,’I ready queue I :{'CPU' _ ’
quueue Iq—| 11O request |1—

time slice
expired

% fork a

5/ child

wait for an
oceurs S nterrupt

(1) process creation. . (2) process state,

(3) ' Queueing diagram. . (49 communication model.

-»S

Fy

[y

161. The following diagram depicts

; g +— nser thread

<—kemel thread
(1) two-level model (2)  many-to-one mode!
(3) one-to-one model (4)  many-to-many model

162. This begins at the root and follows a path down to the specified file, giving the
directory names on the path. This is known as

(1) absolute path name. (2) relative path name.
(3) definite path name. (4) indefinite path name.

163. Each process is contained in a single section of memory that is contiguous to the
section containing the next process is called

(1) contiguous memory protection.  (2) contiguous memory allocation.
(3) contiguous memory relocation.  (4) contiguous memory utilization.
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164. Tt Fraam (@HR weithe) % fou w2-fre @it S5 2ot frad a1 wwd & 2
) AR e
(3)  50-ufer fram (4) TS

165. wm%mmwmmmmmﬁm% | 3 A I
T

(1) wuEy @) T

(3) wwIe @) THEIBETE
166. 5 OSIHieH % fFa R A FH A& ?

(1) UieheH e (2) TEEE TR

(3) Heas HW (4) TR

167. Jeash | defagy o o & 2
(1) U FHASIH e T ST &
(2) e | Haitea FeH
(3) Fea%® | UG IP & FAH
(4) FEFHIA A FRT S HANAT

168. Freiferiaa & § S @ giafuee Raen weis waf # TenE e T WH S ?

(1) FH 2)
(3) dFEUTHE : (4)

169. 8 e Retiegyr & 256 erd arelt 640 x 480 Rt =i st W51 & ;
(1) 300KB (2) 900KB '
(3) 128KB (4) 1024KB

170. Tr=feafEd 3mE S e :

r

(1) e § _ (2) e snafw
(3) sheta (4) @@ ¥ Fha=
171, et 3-D 57 § 3-D wieer %o § iy s & Fior 31 5o 31 wed &
(1) e @
(3) wra-fewfeam (4) T
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164. Both the first-fit and best-fit strategies for memory allocation suffer from

(1) external fragmentation. . (2) internal fragmentation.
(3) 50-percent rule. (4) segmentation.

i ¥ .
165. The simplest, but most expensive, approach to introductory redundancy is duplicate to
every disk. This technique is called

(1) swap space. ! (2) - mirroring.
(3) page slots, ~(4) None of these

| 166. Bridge works in which layer of the OSI model ?
| (1) Application Layer : (2) 'I'ransport Layer
| (3) Network Layer (4)  Datalink Layer

167. What is the meaning of bandwidth in a network ?
(1)  Transmission capacity of a communication channel.
(2) Connected computers in a network. + &8
(3) Class of IP used in Network. "
(4) Interconnected by communication channels.

168. Which one of the following transmission systems provides the highest data rate to an

individual device ? NON
(1) Computer bus (2) Telephone bus
(3) Voice and mode (4) *Lease lines

169. The file size of a 640 by 480 picture of 355'6:.c010urs in a 8-bit resolution is
(1) 300KB " (2) 900KB
(3) 128KB ¢« AN 9@ 1024kB t

170. The diagram below degfﬁi_:‘s :

& e = Crest
2
E
<
Trough ; : 2!
Duration (Time in Second) £
(1) Sound in wave form. (2) Wind frequency.
(3) Line of sight. (4) Compressions on a map.

171. The process of producing' bitmapped images from a view of 3-D models in a 3-D scene

is called
(1) Rendering (2) Looping.
(3) Cross-dissolving, gfl) Imaging.
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172. Freffan @ I &

LS

173. Tretietiae St T & :

(1) Y& a (2) oW HIS AU
@) Fr | @) -
174. ﬁqﬁ;wwmﬁﬂmﬁa@vmmsﬁwﬁm%ﬁﬁaﬁmﬁm
ST
(1) Fre= @) W
(3) i wIHT (4) TETEERN

175. ﬁﬂmﬁqmwﬁa’raﬁﬂgﬁmw% g o1 @Al S |

(1) oA (2) 4
(3) HEIHA (4) :vaﬁmﬁﬁm

176. Trefetias # & B T ARG € 2 0
(1) el wm R LR dMwTEIHA
() TR (4) T PR T

177, x.25 WA Rk FAE
(1) rE-xe g o Hee (2) o U H A
(3) DTE/DCE %08 @) wefe®E

178. wﬁmmﬁmmmaﬁﬁmaﬁr@nmﬁﬁwmwm%,wm%
1) & (2) T
(3) fdiex (4) wreH

179. 100 & IP USH & @4 ST T 20T 80 WE § | SR ST HEE I U H AT
m%maﬁﬁmmmmmmﬁq

(1) 192 (2) 224
(3) 248 4) 252
180. Feayeil 6t 21 T | T €
(1) iR 2) AT HAEL
(3) MAU (4) NIC
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172. The diagram below represents

Al
8
(1) Resolution (2)  Vibration
(3) Reverberation (4)  Frequency
173. The following figure represents
(1) Pure sine wave. (2) Pulse code modulation.
(3) Sampling. (4) Rarefaction,

174. The process of taking a snapshot of the waveform at regular interyals and representing
it as a binary number is known as
(1)  Sampling. (2) Standard Assessment.
(3)  Sequential Formatting. (4) Sound Structure,

175. is a technique where the same objects shown further away are shown
proportionately smaller.

(1) Dimension (2)  Perspective
(3) Compression (4)  Localization
176. Which of the following is interactive ? ‘
(1) A radio broadcast. (2) A talk show on TV.
(3) A newspaper. (4) A computer game.

177. The x.25 standard specifies a
(1) Technique for start-stop data. (2) Technique for dial access.

(3) DTE /DCE interface. 5 (4) Data bit rate.

178. Frames from one LAN can be tr'anémitted to another LAN via a device called
(1) Router. (2) - Bridge. 1
(3) Repeater. (4) Modem. .

179. With an IP address of 100, you currently have 80 subnets. What subnet mask should
you use to maximize the number of available hosts ?

(1) 192 | @ 224
(3) 248 (4) 252
180. The houses the switches in token ring.
(1) Transceiver (2) Nine-pin connector
(3) MAU (4 NIC
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181, TN Foed & A 9, ffisp wfel FHEGE ® AT T T eI § | 98 e
mﬁwmmm%a}mg@waﬁﬁ@m%mmmmﬂﬁﬁaﬁﬁ
TR B | o T
(1) FerEEe (2 TRFFEIX
(3) WA ©

182. TE T TER B¢ FIEGHI-HHET o | o WA 3 EREEe & CPU & &9 | festred gon

o | H S S, ST e R ST ST S TS S el o | 7 Tepd HTESHI-ITEaT
M A RE?

(1) 4004 (2) 8008
(3) 8080 ) TR
183, O8I e snfineerae e R gk Fronfe 8 €
L (1) TRIE AR () T o e
(3) T @E (4) THER
184, C=xH++x + ++x +x 7 AR x=10'§',FﬁC?=FEHF{‘cFﬁ%'?
(1) 48 Q) 45
(3) 46 (4) 49
185. 16% 1W$W$WPROM#@@%W t

(1) 1Mx1 2) ..2M

186, Rt st o fears 3 fore s me s o se iR it | forert &
5 T e, 16 AND 8 3T 1 OR 7z & 1 PAL feared

(1) 384 @) 512
(3) 256 SN @ 1287
187. aﬁﬁﬂaﬁﬂﬂ%@uﬁuﬁﬂﬁ@ﬁ%ﬁhﬁwﬁaﬂtwﬁqﬁﬁﬁaﬁmmmm%
(1) oA (2) SR TS
(3) s erEteT (@) Awd
188. e e A TR s e S | He ¥, S W 8 FHe
AR 1 ST faeed % famiE € | _
(1) it fawen @) fom feem
(3) e (4) USSR
189. o i S ey, TR e & S e 1 R a6 % T 5
FT el € |
(1) e Hie 2w (PCD) (2) iR FEE feddATE (PCD)
(3) T PRI TR (4) WHTRE

190, 37, W, AT S Wewd, o = s fafedt o g enefureRaTd
T

(1) =& (2) FEX
(3) =ERt 4 =
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181. The term is used for the larger, more powerful computers other than
supercomputers. It supports a large database, has elaborate 1/0 hardware, and is used
in a central data processing facility. _

(1) minicomputer (2) supercomputer
(3)  mainframe (4) microcomputer

182. This was the first general purpose micro-processor. It was designed to be the CPU of a
general purpose micro-computer. It was faster, had a richer instruction set and a larger
addressing capability. Which microprocessor are we discussing ?

(1) 4004 (2) 8008
(3) 8080 (4) All of these ( G-( ar%), . )
183. In OSI network architecture, routing is performed by the : Y
(1) Network layer. (2) Data link layer. —_—
(3) Transport layer. (4) Session layer. =S felurizt 1%
1e o [e o
184. What will be the value of C, in C=x++ + ++x + ++x + x, if x=10 ?

A 48 ¢ 2 45 =
(3) 46 4) 49 12 +)2 )+
185. Determine the size of PROM required for implementing the 16-to-1 multiplexer. @_..—
(1) 1Mx1 (2) 2Mx1
(3) 8Mxl1 (4) 32Mx1

186. Determine the number of programmable inter-connections in the following programmable
logic device- PAL device with eight input variables, 16 AND gates and four OR gates.
(1) 384 @2) 512
(3) 256 (4) 128

187. In object-oriented programming, by wrapping up characteristics and behaviour into one
unit, we achieve f

(1) data abstraction. (2)  data encapsulation.
(3) data hiding. (4)  All of these
188. The term refers to the use of electronics and software within a product, as
opposed to a general-purpose computer, such as a laptop or desktop system.
(1) complex system (2) simple system
(3) Fuzzy logic (4) embedded system
189. The is a popular high-bandwidth, processor independent bus that can function as a

mezzanine or peripheral bus.

(1) Peripheral component interconnect (PCI)
(2)  Peripheral component disconnect (PCD)
(3) Input output connect

(4) Array connect

190. Sequential, direct, random and associative are access methods and key characteristics

of computer system.
(1) stack (2) counter
(3)  memory (4) core
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191.

192.

193.

194.

195.

196.

199.

3200 L R R SRS

Rt e §, STmieT fases 380 Jerd §

(1) TR EAEE ¥ Q) qnﬂaﬂtﬁa

(3) FRAARAER 7S (¢4) =A@

0000 3 Tt T 1 W T # (7, 4) FSE

(1) 0000000 (@ 1111111

@), 2222020 =L (4 12121212 .

-6 Y AT e ¥ e YT T A B e ©

(1) vmEeeRe wed () T EToR

(3) forgger dadiaeH (4) FARHT TR

o et e R e T SR e e D

(1) deEAHEA (2) WiRE gEEEe 3

(3) wHE (4) =R .
it G-z e =5 o o o AR E O

(1) Frdiwe 9m st (2) SR AR

@) TwEd (4) TSR

e AT HE ST I e e s s T E ls
F(W,X,Y,2)=5(0,4,8,12) : |

iy ' Yo 8 (£
B SRR 5 . < AR
197. ﬁmm%mmmﬁ'mm%m%mwzﬁj 7z e R
- Fran § Rl S 2 : 0y \ e |
(1) IFtaa 2 QY (2 TR
()T L1 SRR~ Nt N TR
196, et e e e e, 8 R e e e

) mmwmﬁwﬁﬁ%mﬁwmwwwmﬁwﬁa
@’ it T, T A e T 3 % G T 2 A W we # e

S @3) wwmww@ﬁﬂﬂﬁﬁ%‘%*ﬁﬁﬁzﬁlﬁwﬁa

@ mw,wﬁwﬁqﬁaqﬁw-mﬁmﬁﬁ%mﬁﬁ#mm

SQL et 3 e e S 5 e, o S (o s A A €0

(1) MODIFYTABLE '/~ ' (2) EDITTABLE  ~

(3) ALTERTABLE (4) ALTER COLUMNS
200, Freferfan 3 2 B & § s 3 wide 01 aoRaw € 2

(1) fatRE" ' . iy ) o S

(3) s @ A
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191. In a monolithic kernel, operating system runs in
(1) user mode. (2) supervisor mode,
(3) user/supervisor mode. (4) None of these

192. The Hamming (7, 4) code for 0000 using even parity is
(1) 0000000 () 1111111
(3) 2222222 (9 12121212

'193. One scheme for communication between user-thread library and the kernel is known

as
(1) lightweight process. (2)  upcall handler.
(3) scheduler activation. (4) cleanup handler.

194. A classic software-based solution to the critical-section problem is known as

(1) Peterson’s solution. (2) process synchronization.
(3) coordination. (4) race condition.
195. is a sequence of memory read-write operations that are atomic.
(1) Critical section object (2) Adaptive mutex
(3) Tumstile (4) Memory transaction
196. The reduced expression for the followiné expression using a Karnaugh Map i
F(W,X,Y,Z)=3(0.4,8,12)is: - g
(1) YZ QI 1 Z
(3 XtZ @ Y+Z

197. If a process is runnable but is temporarily stopped to let another process run, in which
state is the process said to be ? _ .
(1) Running (2)  Ready
(3) Interrupted (4) Blocked

198. To override a method in Java, we need to define a method in a sub-class with the |
(1) same name, same number of arguments having the same data types as a method in
the superclass.
(2) different name, same number of arguments having the same data types as a method
in the superclass.
(3) same name but different number of arguments as a method in the superclass.

(4) same name, same number of arguments but different data types as a method in the
superclass.

199. In order to add a new column to an existing table in SQL, we can use the command

(1) MODIFY TABLE (2) EDIT TABLE

(3) ALTER TABLE (4) ALTER COLUMNS :
200. Which of the following search algorithm requires a sorted array ?

(1) Linear search (2) Hash search

(3) Binary search (4)  All of these
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